
Turtle Racing 5B Front HD Shock Mount TUR0006 

Kit includes: 

1pcs TR HD Shock Mount 

2pcs M4x35 FlatHeads 

2pcs M4x30 ButtonHeads 

2pcs M4 Lock nuts 

 



This product only fits 5B 

1. Remove 2 screws on shock tower and 2 

screws holding top of shocks. 

 
 

2. Install 2pcs M4x35 Flathead in shock 

tower. These screws are longer than stock 

and will go through the plastic shock tower. 

Either drill through shock tower with a 1/8” 

(3mm) drill or just drive the screw through 

the plastic. After you drive screw through, 

back it out and trim plastic flat with a knife 

or Dremel, run screws back in and install 

M4 locknuts.  



 
 

 

 

 



3. Insert shocks into mount, install and 

tighten M4x30 ButtonHead 

 
 


